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Worked Examples

1. An unbiased coin is tossed once. What is the

probability of getting a head?

[ o View Text Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MD2VGBIRrXJb

2. An unbiased die is rolled once. What is the

probability of getting a 4?

o View Text Solution

3. In a cricket match, a batsman hits five
boundaries in 20 balls. What is the probability

that he does not hit a boundary?

o View Text Solution



https://dl.doubtnut.com/l/_MD2VGBIRrXJb
https://dl.doubtnut.com/l/_ILMPp9owhcTh
https://dl.doubtnut.com/l/_7qgafZQUIKiA
https://dl.doubtnut.com/l/_6Ytvsp8bXNnL

4. The percentage marks scored by a student
in five unit tests are given in the following
table. What is the probability that he scores

more than 80% in any unit test?

o View Text Solution

Test Yourself Level 1

1. Find the mean of the ungrouped data: 3, 3, 7,

2,2,5,3,3,7,1.

| & ]


https://dl.doubtnut.com/l/_6Ytvsp8bXNnL
https://dl.doubtnut.com/l/_H1EgsFjQHcpA

| ' View Text Solution |

2. Find the median of 12, 10, 13, 20, 8, 18, 9, 15, 6,

20.

° View Text Solution

3. What is the mode of the data: 4, 7, 6, 4, 1, 4,

7,6,4,17

° View Text Solution



https://dl.doubtnut.com/l/_H1EgsFjQHcpA
https://dl.doubtnut.com/l/_pl0cMeMMQ8De
https://dl.doubtnut.com/l/_zBgukjKATd7H
https://dl.doubtnut.com/l/_7XLCWAHGZLqE

4. A box contains three green balls, five yellow
balls, and seven white balls. If a ball is taken
out at random, what is the probability that it

is green?

N & >

o
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Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_7XLCWAHGZLqE

5. There are cards on which the letters A, B, C,
., Z are printed. If a card is chosen at random,

what is the chance that it has the letter S?

o View Text Solution

Test Yourself Level 2

1. Find the median of the data: 155, 160, 145,

149, 150,147,152, 144, 148.

l ° View Text Solution


https://dl.doubtnut.com/l/_7XLCWAHGZLqE
https://dl.doubtnut.com/l/_DZJpknTTsgZD
https://dl.doubtnut.com/l/_faLx4pbKXHk2

2.Find the mode of the data: 4,6, 5,9, 3, 2,7, 7,

6,5,4,9,10,10,3,4,7,9,9.

o View Text Solution

3. For the above distribution in Q.12, find the

mean.

° View Text Solution



https://dl.doubtnut.com/l/_faLx4pbKXHk2
https://dl.doubtnut.com/l/_MtuNwfKhaRtC
https://dl.doubtnut.com/l/_l6H1FVNF8SyO

4. Find the median of the following data:

26,17,27,17, 33,32, 20, 29, and 36.

° View Text Solution

5. Find the median of the following data:
242, 244, 148, 351, 328, 300, 262, 293, 272, 259,

and 258.

° View Text Solution



https://dl.doubtnut.com/l/_S6ceSxvUC49R
https://dl.doubtnut.com/l/_koCt4eaFHC3e

6. Find the median of the following data:

64, 18, 51, 10, 26, 44, 22, 51, and 35.

° View Text Solution

7. Find the mode of the following:
42,40, 49, 53,47, 63, 55,41, 97, 53, 99, 41, 43, 53,

61.

° View Text Solution



https://dl.doubtnut.com/l/_cLRWeOWk5zUl
https://dl.doubtnut.com/l/_WUQ8NphpkuWE

8. Find the mode of the following:

The following observations have been
arranged in ascending order. If the mean of
the data is 64, find the value of x

30, 33, 49, 51, x, x+3, 73, 79, 85, 96.

o View Text Solution

9. In a survey of families, chosen randomly, it
was found that 375 families had two girls, 514

families had only one girl, and 111 had no girl.


https://dl.doubtnut.com/l/_vLHEPdPz3qEd
https://dl.doubtnut.com/l/_sxC0xswuS70b

If a family is selected at random, what is the

probability that it has two girls?

° View Text Solution

Test Yourself Level 3

1. Calculate the mean, median, and mode for

the following data:

2000, 1800, 3000, 500, 3500, 2200

° View Text Solution



https://dl.doubtnut.com/l/_sxC0xswuS70b
https://dl.doubtnut.com/l/_ETb6NTKcoQ0J

Test Yourself Mcq

1. The mean of the ungrouped data 2, 2, 2, 2, 2
is

A.5

B.4

C.3

D. 2

Answer: D

O View Text Solution



https://dl.doubtnut.com/l/_Srf8pUmMWgoa

2. If the mean of data x, 4, 6, 8, 10 is 6 then

value of x is

Al

B.2

C.6

D.8

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Srf8pUmMWgoa
https://dl.doubtnut.com/l/_UNU4VcH0ONtV

3. The mean of data
a—3d,a —2d,a —d,a,a—d,a+ 2d,a + 3d

IS

A. 2a

B.a + d

D.2a + 2d

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_ALXZlsvkek0G

4. If the mean of first n even natural numbers

is n itself then n is

A. 100

B. 2000

C. 80000

D. not possible

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_2myUrrc9pZLf
https://dl.doubtnut.com/l/_5sGp9XeNNSwW

5. If the mean of first n odd natural numbers is

n itself

A3

B.7

C.9

D. any natural number

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_5sGp9XeNNSwW

6. If mean of first three terms is 12 and mean

of last two terms is 4.5 then find mean of all 5

terms.

A.6

B.7

C.8

D.9

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_btbE0bEKfEL2

7. A group of 12 items has mean 5. If mean of 5

of these items is 3.6 then mean of remaining

items is

A5

B.6

C.8

D.10

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_YrnWrhwMCl2P

8. If a car goes from A to B at a speed of x
km/hr and returns from B to A with a speed of

y km/hr. Then the average speed is

A.x;ykm/h

LY
r+y
2Ty
r+y

B. km /h

C.

km /h

D.(z +y)km /h

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_1QFnzQZfiPRV

9. The median of first 25 odd natural numbers

A 21

B. 25

C.35

D. 27

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_J2MzY3q39uWi
https://dl.doubtnut.com/l/_f8utJVAJ0PwV

10. Following table represents the marks in a

subject of students of a class.

Marks 10 20 30 33 40 45
Number of students 2 4 8 10 2 3

Mode of above distribution is

A.48
B. 33
C.30

D.10

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_f8utJVAJ0PwV

11. If the difference between mean and mode

of a data is 21, then difference between mean

and median is

A. 63

B.7

C.33

D. 21

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_f8utJVAJ0PwV
https://dl.doubtnut.com/l/_X2pVnmCSgq8c

12. The mean of 5 items of a data has been
wrongly calculated as 30 because a value 30
was wrongly taken as 20. The correct mean
should be

A.30

B. 28

C.32

D. 34

Answer: C


https://dl.doubtnut.com/l/_X2pVnmCSgq8c
https://dl.doubtnut.com/l/_IaFC4Ock1wMB

° View Text Solution

13.If ab + be + ca = 0 and mean of a?, b?, ¢?
is 27 then mean of a, b, c is

A.9

B. 81

C.3

D.6

Answer: C

| 8 l


https://dl.doubtnut.com/l/_IaFC4Ock1wMB
https://dl.doubtnut.com/l/_n5CHIKty6ms7

14.1fa + b+ ¢ = 0 and abec = 9 then mean of
ad, b P is

A9

B.729

C.3

D. 27

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_n5CHIKty6ms7
https://dl.doubtnut.com/l/_M0xDnkby1Hk3

15. If the mean and median of a set of numbers

are 8.2 and 8.4, respectively, then mode is

A 7.7

B.7.6

C.8.8

D.7.8

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_M0xDnkby1Hk3
https://dl.doubtnut.com/l/_IK3CcDhSawJJ

16. The first quartile for data 5,7,4,4,6,7,2 is

A 4

B.2

C.5

D.6

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_gTwkmawJAWuQ

17. In an ungrouped data if @, Qs and Q3
are first, second and third quartiles,

respectively, then quartile deviation is

A Qs — @

Q3 — Q1
B. 5

C.Qy— @y

Q2 — Q1
D. 5

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_btwHJbBSCsIF

18. If x is the mean of =1, x5, ..., ,, then the

n
value of Z (z; — ) is
i—1

A .0

B. 27

O
YRS

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_SQUEAoe6xfOl
https://dl.doubtnut.com/l/_dUyFAsY7VglB

19. If the first 10 elements of a set are replaced
by (z; — 10), where ¢ =1,2,3,...., 10, and
the next 10 elements are replaced by
(z; 4+ 10), where | = 11, 12, 13,..,20, then mean
will change by

A. 50

B. 100

C. 25

D.O

Answer: D



https://dl.doubtnut.com/l/_dUyFAsY7VglB

‘ o View Text Solution

20. If the difference between mean and mode
is x and that of mean and median is y, then the

correct relation is

Az =3y
B.y = 3z
C.2x = 3y
D.3z = 2y

Answer: A


https://dl.doubtnut.com/l/_dUyFAsY7VglB
https://dl.doubtnut.com/l/_MAkhAY9j9eJn

° View Text Solution

21. Probability of getting head in a biased coin
is 2/3. If the coin is tossed again, then what is

the probability that it will show tail?

.
N~ W W]

o

Answer: A


https://dl.doubtnut.com/l/_MAkhAY9j9eJn
https://dl.doubtnut.com/l/_svnwqiDuXyz9

° View Text Solution

22.Two coins are tossed simultaneously. What
is the probability of getting at most two

heads?

Answer: A


https://dl.doubtnut.com/l/_svnwqiDuXyz9
https://dl.doubtnut.com/l/_0KQo5IUT9HzJ

° View Text Solution

23. If two dice are thrown, then the probability

of getting same number on either dice is

Answer: A

| 8 l


https://dl.doubtnut.com/l/_0KQo5IUT9HzJ
https://dl.doubtnut.com/l/_ZxCMuxfmiWh3

24. Two dice are thrown, and numbers shown
on each dice is noted. What is the probability

that sum of number is 97

Ol Ol wlrkr o

Answer: C

[ 1


https://dl.doubtnut.com/l/_ZxCMuxfmiWh3
https://dl.doubtnut.com/l/_EEIrdT5Vd4r8

I D View Text Solution

25. If three unbiased coins are tossed, then

probability of getting at most two tails is

>

0|3 oo|]uot N~ oo

Answer: D

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_EEIrdT5Vd4r8
https://dl.doubtnut.com/l/_DxgMTdJLjKmj

26. A letter is chosen at random from the word
COFFEE . The probability of that letter being

vowel is

@ >
Wl N~ Wk o=

N

o

Answer: C

| €8


https://dl.doubtnut.com/l/_DxgMTdJLjKmj
https://dl.doubtnut.com/l/_uKofBQ0lxuMJ

| ¥ Watch Video Solution J

27.From a pack of 52 cards, one card is drawn

at random. The probability of getting a red

card is
A~
4
5.
2
c.>
4

D. none of these

Answer: B

| 1


https://dl.doubtnut.com/l/_uKofBQ0lxuMJ
https://dl.doubtnut.com/l/_vh5deomQSqKw

I o Watch Video Solution

28. From a pack of 52 cards, a card is drawn at

random. The probability of getting a club is

Wl = |

1

D.
13

Answer: B

I o View Text Solution


https://dl.doubtnut.com/l/_vh5deomQSqKw
https://dl.doubtnut.com/l/_GlxiQNagh2rX

29. From a pack of 52 cards, a card is selected
at random. The probability of getting either

black or an ace is

Answer: B

| N |


https://dl.doubtnut.com/l/_GlxiQNagh2rX
https://dl.doubtnut.com/l/_VB87WhSV2z4v

| ¥ Watch Video Solution |

30. When two dice are thrown simultaneously,
then what is the probability that there is

exactly one 67

1
A.§
1
B.E
§)
¢33
2
D'§

Answer: B



https://dl.doubtnut.com/l/_VB87WhSV2z4v
https://dl.doubtnut.com/l/_4MZuCVo73j2r

Watch Video Solution

31. When three identical dice are rolled, then
what is the probability of getting same

number on each dice?

Answer: D


https://dl.doubtnut.com/l/_4MZuCVo73j2r
https://dl.doubtnut.com/l/_3W1wuk48OsnN

° Watch Video Solution

32. A box contains 20 balls numbered as 1, 2, 3,
..y 20. A ball is drawn at random from the box.
What is the probability that the number on

the ball is a prime number?

1
A=
3

B.
c 2
"5
2

D. =


https://dl.doubtnut.com/l/_3W1wuk48OsnN
https://dl.doubtnut.com/l/_42LyHxpf9Vcc

Answer: D

o View Text Solution

Olympiad And Ntse Level Exercises

1. The mean of x1 + 53 + ... + x,, is M. When

xz;,t=1,2,....,10, is replaced by z; + 10,

the mean is Mj.Then M =

A M

B.M + 10


https://dl.doubtnut.com/l/_42LyHxpf9Vcc
https://dl.doubtnut.com/l/_RrwqHD5vqhvV

cC.10M

D. M + 100

Answer: B

o Watch Video Solution

2. The weights in kilogram of 9 members in a
school boxing team are 54, 59, x, 53, 73, 49, 50,

58, 45. If the average is 56, then x is

A. 61 kg


https://dl.doubtnut.com/l/_RrwqHD5vqhvV
https://dl.doubtnut.com/l/_kvZQe3PC2ljA

B.62 kg

C.64 kg

D. 63 kg

Answer: D

o View Text Solution

3. Out of 132 screws in a pack, 12 screws are
known to be defective. If one screw is picked
up at random, the probability that it is a good

screw is


https://dl.doubtnut.com/l/_kvZQe3PC2ljA
https://dl.doubtnut.com/l/_mQWGiS5m4jAL

A1/11
B.10/11
c.2/3

D.9/10

Answer: B

° Watch Video Solution

4. A bag contains five yellow balls and some

white balls. If the probability of picking a white


https://dl.doubtnut.com/l/_mQWGiS5m4jAL
https://dl.doubtnut.com/l/_xQzvKc1BP8Jc

ball is twice that of picking a yellow ball, how
many white balls are there?

A. 20

B.10

C.16

D. 18

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xQzvKc1BP8Jc

5. A coin is tossed three times. If all the
outcomes are identical, then | win. What is the
chance that I lose?

A.3/8

B.3/4

C.1/4

D.5/8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rMBTPgQbxgej

6. Probability of the event Monday will come

before Tuesday is 1.
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Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Er02hZN6HhyG
https://dl.doubtnut.com/l/_XlXtobMa5lWd

7. Mean of first 20 natural numbers is 10.5

VS
e @
N—"
VS
d
P @
N—"
VS
P

Pd

P

N—"
VS
fd
N—"

>

w
H = S
oo
> =3 e =
=5 BEewn
=

VS
[
N—"
~/
d ©
[
N—"
VS
-
Pd
(-
N—"
VS
fd o
N—"

N

O

o o

Qo

oo

H = 4
=

Answer: A

° View Text Solution

8. Mode is the P repeated score.



https://dl.doubtnut.com/l/_XlXtobMa5lWd
https://dl.doubtnut.com/l/_am1u0SgB5F1u

‘ o View Text Solution

9. There are 50 marbles of 3 colours: blue,
yellow and black. The probability of picking up
a blue marble is 3/10 and that of picking up a
yellow marble is 1/2. The probability of picking

up a black marble is

A.1/5
B.1/10

c.1/4


https://dl.doubtnut.com/l/_am1u0SgB5F1u
https://dl.doubtnut.com/l/_ZdD8xM98BOHx

D.4/5

Answer: A

° Watch Video Solution

10. A box has 20 balls of which x are red. When
4 more red balls are added and then a ball is
picked up, the probability is 1/2. The value of x

IS

A 4


https://dl.doubtnut.com/l/_ZdD8xM98BOHx
https://dl.doubtnut.com/l/_XeJZJALjOAqr

B.6

C.8

D.10

Answer: B

o View Text Solution

11. A bag contains some green, white and pink
beads. The probability of taking out one green
bead is 1/3 and that of picking up one pick

bead is 1/4. If it is known that the box has 10


https://dl.doubtnut.com/l/_XeJZJALjOAqr
https://dl.doubtnut.com/l/_2TRWcBLwvXsY

white beads, how many beads were in the box

initially?

A 24

B. 25

C.28

D. 32

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_2TRWcBLwvXsY

